CLASS: VIII
DAILY ASSIGNMENT-25
DATE: 18. 05. 2020 (Week-5)
SUBJECT: ENGLISH
Multiple Choice questions

TOPIC: UNSEEN PASSAGE

Read the passage carefully and answer the below questions by choosing the correct
option:

The idea of euthanasia, of hastening the death of someone from motives of compassion,
covers two main situations. The first is where someone is close to death and can be kept alive
briefly, with intensive medical care. The official reason for the use of every possible
technique on patients, for whom there seems no hope, is that we never know that there is no
hope of at least a brief recovery.

The second situation, in which it is proposed to end the life of someone who is not expected
to die at once from natural causes, is more morally doubtful. In so far as the suggestion may
be based on the notion of the ‘quality of life’ experienced by the patient, this is an inadequate
approach to human beings. At one extreme we may be dealing with a birth that cannot be
called ‘human’ at all: such a being likely to live at the most for only a few hours. Many feel
that during this time it ought to be given ordinary nursing care. Bringing to an end of the life
of say, a spastic child, by the deliberate refusal of the fullest medical care seems morally
indefensible.

1. Euthanasia means

a) a place in Asia

b) bringing about gentle and easy death
c) enthusiasm

d) the youth in Asia

2. One reason for trying all possible measures to save a person is
a) death is horrifying

b) there is possibility of recovery

c) doctors need to be compassionate

d) science may invent more sophisticated machines later

3. The people who argue for euthanasia advocate it saying
a) the patient is not living a qualitative life

b) we must not spend quality resources on a sick person
c) we should not bother about the ailing

d) it can be defended morally

4. The words ‘dealing with a birth that cannot be called ‘human’ at all” implies
a) humans have no control over birth and death

b) the person may survive only for a very brief period

c) doctors are incapable of saving people

d) the patient may want to die



5. The writer finds it unpardonable to

a) end the life of someone who is not expected to die at once from natural causes.
b) end the life of a spastic child

c) end the life of an infant who is likely to live only for a few hours

d) end the life of a human being

SUBJECT: COMPUTER
Multiple choice questions:

1.Which of the following is an input device?
a) Printer

b) Mouse

c) Plotter

d) LCD projector

2. Web browsers are the examples of which type of components of computer?
a)Application Software

b) System Software

c)Accessories

d) Peripherals

3. Which of the following is an output device?
a)Printer

b) Keyboard

c)Mouse

d) Light Pen

4.Which of the following is an example of a wired network media?
a)Bluetooth

b) Radio waves

c) Twisted Pair cable

d)Microwaves

5. Which of the following topology is known as a combination of star and bus topology?
a)Mesh topology
b) Star topology
c) Ring topology
d)Tree topology

SUBJECT: MATHS
Multiple choice questions:

1. (8/3)>*1 x (8/3)° = (8/3) **2
a. 4
b. -4
c. 2
d. 1



N

If x=(3/2)? x (2/3)*, find the value of x2
a. (2/3)12
b. 1
c. ()2
d. 0
3. Express6020000000000000 in standard form:
a. 602 x 10%°
b. 6.02 x 1010
c. 602 x 10%°
d. 6.02 x 10%°
4. Write(3/2)* x (3/2)* x (3/2)1 x (3/2)1 in exponential form:
a. (3/2)%
b. (3/2)*
. (312)4
d. (3/2)3
5. Simplify:((1/3)2 = (1/2)®) + (1/4)3
a. 19/64
b. 2
C. Y

d. 1

O

SUBJECT: PHYSICS

1. Action like kicking, pushing or pull usually result in
a. change in the motion of an object
b. damage to the object
c. change in the density of the object
d. all of these

2. If two people are pushing a box in the same direction , the box will
a. get crushed
b. fly
c. not move
d. move
3. Whenever the surfaces in contact tend to move or move with respect to each other ,the
force of friction comes into play.
a. only if the object are solid
b. only if one of the two objects is liquid

c. only if one of the two object is gaseous
d. Irrespective of whether the object are solid, liquid or gaseous.



4. One Pascal is equal to
a. 1kg/m?
b. 1lkgm?
c. 1Nm?
d. 1IN/m?

5. When an aeroplane moves forward, the force acting on it to reduce the speed is
a. friction of air
b. gravity
c. atmospheric pressure
d. all of these
SUBJECT: CHEMISTRY

Multiple choice questions:
Why do metals conduct electricity?

(A)Because of free electrons
(B)Because of no electrons
(C)Because of minimum electrons

(D)Because of stable electrons

2. Why iron does not occur as a metal in the crust of the earth?
(A) Asitis less reactive.
(B) As it is quite reactive
(C) As it is non-reactive.
(D) As it is stable in nature.
3. The two metals which are alloyed with iron to make stainless steel are
(A) Nickle and Chromium
(B)Gold and Platinum
(C) iron and Silver
(D)Silver and Chromium
4. A lustrous coloured non-metal
(A)Sodium
(B)lodine
(C)Lead
(D)Calcium
5. The poorest conductor of heat among metal is
(A)Lead
(B)Mercury
(C)Calcium
(D)Sodium



SUBJECT: BIOLOGY

Multiple choice questions:

1. What is the main cause of anthrax diseases in cattle’s?
(@) Virus

(b) Bacterium

(c) Protozoan

(d) All of the above

2. What is the main cause of sleeping sickness in cattle’s pigs and horses?
(a) Protozoa

(b) Virus

(c) Bacteria

(d) Fungi

3. What is the mode of transmission in Jaundice?
(a) Water

(b) Air

(c) Food

(d) Mosquito

4. The main causative agent of Citrus canker is:
(a) Bacterium

(b) Virus

(c) Fungi

(d) Protozoa

5. The main causative agent of Potato blight is:
(@) Virus

(b) Bacteria

(c) Fungi

(d) Protozoa

SUBJECT- HISTORY
Multiple choice questions:

1. Ali Vardi Khan and Siraj ud Daulah were the successors of
a. Murshid Quli Khan
b. Aurangzeb
c. Hyder Ali
d. Mir Jafar
2. was the commander of Siraj-ud-Daulah’s army.
a. Mir Qasim
b. Mir Jafar
c. Ali Vardi Khan
d. Aurangzeb
3. Mir Jafar died in
a. 1777
b. 1766
c. 1778
d. 1765



4. The weaker states were forced by the company to accept.
a. Company Superiority
b. Alliance
c. Subsidiary Alliance
d. All of the above
5. Who was defeated in the Battle of Buxar

a. Mir Jafar

b. Mir Qasim

c. Siraj ud daulah
d. Robert Clive

SUBJECT: GEOGRAPHY
Multiple choice questions:

1. The process through which rock breaks down into small pieces of rocks and minerals
is known as

A. Thundering

B. Precipitation

C. Weathering

D. Snowfall

2. climate encourage rapid plant growth
A. Warm & moist

B. Warm & dry

C. Cold & dry

D. Cold & moist

3. In which areas the soil is very thin?

A. Mountain slopes

B. Plains

C. Plateaus

D. Forests

4. It provides a reservoir of nutrients for balanced plant growth
A. Rock

B. Sub- soil

C. Trees

D. Humus



5. isimportant for the survival of plants, animals and humans
A. Transport

B. Soil

C. Valley

D. All of the above
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